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3 Read the following text and answer the questions.

Question 1
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(Source: Susanne K. Langer, Philosophy in a New Key: A Study in the Symbolism of Reason,

Rite, and Art)
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(Source: Michael Bond, “The Makings of Great Leaders,” Nature)
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Read the following text and answer the questions.
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(Source: Josie Glausiusz, The Ecology of Language)
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Question 1

Question 2

Question 3

Question 4

What does the article say about Papua New Guinea? Choose the correct

answer.

(a)

(b)

(c)

(d)

(e)

Communities in Papua New Guinea are separated from one another

by mountains.

Linguists are puzzled by the number of languages found in Papua

New Guinea.

Linguists have not studied the languages of Papua New Guinea

because it is so isolated.

Papua New Guinea has a greater number of distinct languages than

any other region in the world except West Africa.

Papua New Guinea has fewer languages than West Africa.

What new discovery did Nettle make? Choose the correct answer.

(a)
(b)
(©)
(d)
(e)

More languages are spoken in areas which have higher rainfall.
The further south one goes, the fewer languages there are.

The further south one goes, the more languages there are.
More languages are concentrated around the equator.

It is likely that West Africa will continue to have many different
languages.

Look at the sentence below, which has been removed from the text.

Contact with the outside world is not essential to survival.

In what positionl 1 | - | 4 |should it appear? Choose the

correct number.

Would a world with one language be better than a world with many? Give

two reasons to support your opinion. Write your answer in English in the

space provided.
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(a) the 18-month-old babies would give her the food that the experimenter
liked, rather than the food that the babies liked.

(b) the 18-month-old babies would give her the food that the experimenter
liked, rather than the food that the babies disliked.

(¢) the 18-month-old babies would give her the food that the experimenter
disliked, rather than the food that the babies liked.

(d) the 18-month-old babies would give her the food that the experimenter
disliked, rather than the food that the babies disliked.
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